UNCERTAINTY IN DEAD RECKONING POSITION (first quadrant only)

ltem Value Uncertainty
Boat Speed = Sp :=6.578313%ts  Ugg := 2xts

ft
kts© 6076>—
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Boat Course  Cp := 15xleg Ucp = 5deg
Time Run Tp = 1%h Utg = 20 h
B~ TB = 300 " mi © 6076t
[*] Equations

In the direction of longitude

f(SB,TB,CB) = SBXTB&n(CB) DBX =f(SB,TB,CB)

UpBx = $SB"_f(SB B CB) g%TB"“—f(SB B CB)é ﬁcs"ﬁ"ﬂ—f(ssﬁs’csﬁ
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In the direction of latitude

f(Sg.Tg.Cg) = SgAgxos(Cg) Dgy:=f(Sg. T Cp)

O P
UpBy = @SB"@“(SB 1B CB)@ +§%T5ﬁf(55 1B CB)@ ?CBXM"@f(SB’TB’CB)+

Distance run

(Dex.Day) = (Do’ +(Pry)°  Ds = 1(Dax. D)

[4] Equations

Distance Run Dg = 6.58mi
Direction of Longitude Dy = 1.70mi Uppgy = 0.76mi

Direction of Latitude DBy = 6.35mi UDBy = 1.94mi



